Calculus Page 246 #1 -8, 11 - 14 Solutions

1) f(x)=3x-2
L(x)=7+10(x-2)=10x-13

2)

f1(x) = %(xz +9)" (2x) = =

X +9
4 4 9
L(x)=5—g(x+4)=—§x+§
D pw=1-4
X
L(x)=2+0(x-1)=2

Y p-—L

L(x)=0+1(x-0)=x

5) f'(x)=sec’ (x)
L(x)=0+](x-m)=x-m

6) £'(x)=sec’ (x)
L(x)=g—l(x—0)=g—x

7)
f'(x)=k(1+x)
L(x)=1+k(x-0)=1+kx

k-1

8a) 14100(0.002)=1.2
8b) 1+%(0.009) =1.003

11)
Use a =100

f(x)=x f(x)=T

L(x)= 10+—(x 100)

L(101)=10 +%(101 -100)=10.05



12)
Usea=27

fo=Yx flx)=

1
()
1
L(x)= 3+E(x— 27)

L(26)= 3+i(26 -27) = 220 2963
27 27

13)
Use a =1000

f)=x fi(x)=

1
3(dx)
1
L(x)=10+——(x-1000
(x) +300(x )

L(26)= 10+L(998—1000) = 9@ ~9.993
300 150

14)
Use a =81

1

2x

1
= —(x-81
L(x) 9+18(x 81)

f=Vx fl(x)=

L(101) = 9+i(80-81) 817 5044
18 18



